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IS Curve:  

The equilibria where total private investment 

equals total saving 

OR: The locus of all equilibria where total spending 

equals an economy's total output 
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LM Curve:  

The combinations of interest rates and levels of real 

income for which the money market is in equilibrium 

OR: The set of equilibrium points between the liquidity 

preferences (or MD) function and the MS function 

MD = P . L(Y, i)  
b/c of three functions 

 of money: 
1- Medium of exchange (Y) 

2- Unit of account (P) 
3- Store of value (i) 
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